.y
WHON—XHONWMhMWL? WO 1)
% sl ] 5
R R 11} -l N N ESE VE |
2 ] -
" = @ | % ‘ 5<%
HORE ENE
B X
#
=| Mok L R e HUHS <& SHeNIR s e
B3
.@ gk 2 OS5 VERQWH O <22 0BV 51 A° SR
—
) <t B
| S YR+ O VRS0 FHHIH LR VRNEREEI M 50Q° [2-s
R Y e
M .&Clmrrj ~ U/NUC o %nﬂ_l\b H .@A\ MLT.” 4] @
= 5 & & ._a S #® () =TI
T P - P - SO S PR S B N -~ L&
PN N Moo oSy i (5210) S (=235)
it - N <t S o FE
IRESREAL - SEVIRRERUE 3B R UH - S SPUE S RURRENY S B SRR G0 Sp. =
[l R T A PR . : . : : ¥

[on]| | Stiv i © | [z
g o ® o |2
=B iR DIV IE G U0 L DY S bR e
S| K |88 42]s mes
S REEEURELRNLEGC S0 SR 0o
plelg sluimigin Eivininiwivioly & 0 b n
N Mivinei” % S ﬁ i i U ﬂmmmwf%wé
= < S - |®|1Ji wmmm&.@w N |Eemes
o]0 ] 1) N[0 T e 0 0 e -
. I S N .__“". o sl e T ot S
ol <wio v eixinirmia wisageiv oV
© : . : * ‘ - ; ; - . . B
| ME .c |

% (4]

RJ.CEb

i
)




C o I R TR
(34X 9=274)
(| 7 3 « 4 % 2 X
(2)| 7 4 1 1 “ 2
H 3|7 1 1 3
()| ¢ (B | studied English )
((1)-(2) 28X 1=84 (3)64:1=6:1
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